



Operaciones bien hechas la última vez: _____

Sumas

$1 + 3 =$

$1 + 2 =$

$1 + 0 =$

$1 + 1 =$

$1 + 4 =$

$1 + 3 =$

$1 + 1 =$

$1 + 2 =$

$1 + 3 =$

$1 + 4 =$

$1 + 3 =$

$1 + 0 =$

$1 + 4 =$

$1 + 2 =$

$1 + 1 =$

$2 + 1 =$

$2 + 2 =$

$2 + 0 =$

$2 + 2 =$

$2 + 1 =$

$2 + 3 =$

$2 + 1 =$

$2 + 4 =$

$2 + 2 =$

$2 + 0 =$

$2 + 2 =$

$2 + 3 =$

$2 + 2 =$

$2 + 1 =$

$2 + 3 =$

$1 + 3 =$

$2 + 2 =$

$2 + 1 =$

$3 + 0 =$

$2 + 3 =$

$3 + 0 =$

$1 + 3 =$

$1 + 2 =$

$0 + 3 =$

$3 + 0 =$

$2 + 1 =$

$3 + 1 =$

$1 + 1 =$

$1 + 2 =$

$1 + 3 =$

$2 + 1 =$

$0 + 1 =$

$2 + 1 =$

$1 + 3 =$

$0 + 4 =$

$2 + 1 =$

$1 + 3 =$

$3 + 1 =$

$4 + 1 =$

$2 + 3 =$

$1 + 2 =$

$3 + 1 =$

$3 + 2 =$

$4 + 1 =$

$2 + 3 =$

Operaciones bien hechas en 2 minutos: _____



Operaciones bien hechas la última vez: _____

Restas

$2 - 1 =$

$2 - 0 =$

$3 - 1 =$

$3 - 2 =$

$3 - 1 =$

$2 - 2 =$

$3 - 2 =$

$3 - 1 =$

$2 - 1 =$

$1 - 1 =$

$3 - 2 =$

$2 - 1 =$

$3 - 3 =$

$1 - 0 =$

$3 - 3 =$

$3 - 2 =$

$2 - 2 =$

$3 - 1 =$

$2 - 1 =$

$3 - 2 =$

$4 - 3 =$

$3 - 2 =$

$4 - 1 =$

$2 - 2 =$

$3 - 2 =$

$3 - 1 =$

$3 - 3 =$

$1 - 0 =$

$2 - 1 =$

$3 - 2 =$

$3 - 2 =$

$2 - 1 =$

$4 - 1 =$

$4 - 2 =$

$4 - 4 =$

$3 - 3 =$

$2 - 0 =$

$3 - 0 =$

$4 - 4 =$

$3 - 2 =$

$4 - 3 =$

$2 - 1 =$

$3 - 2 =$

$3 - 1 =$

$4 - 3 =$

$4 - 2 =$

$4 - 1 =$

$3 - 1 =$

$2 - 1 =$

$4 - 2 =$

$3 - 2 =$

$2 - 2 =$

$3 - 0 =$

$4 - 0 =$

$3 - 3 =$

$2 - 2 =$

$4 - 2 =$

$4 - 3 =$

$2 - 1 =$

$3 - 2 =$

Operaciones bien hechas en 2 minutos: _____